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QUESTION 1

While performing some re-cabling, a NetScaler engineer noticed that a power supply unit failed on a NetScaler
appliance. What should the engineer enable to receive natification of a future hardware failure?

A. SMTP

B. SNMP

C. Health monitoring

D. EdgeSight monitoring

Correct Answer: B

QUESTION 2

Scenario: A security test has shown that the NetScaler is forwarding IP packets. Company standard operating
procedure is that the routers should be the only devices forwarding packets.

Which step should the network engineer take to prevent forwarding packets?
A. Enable Layer 2 mode.

B. Disable Layer 3 mode.

C. Disable Path MTU Discovery.

D. Enable MAC based forwarding.

Correct Answer: B

QUESTION 3

Scenario: A company has three HTTP servers that are load balanced using NetScaler. When users connect to the
HTTP application they often receive inconsistent data or are advised that they need to log on again. Which step should
the engineer take to correct this?

A. Remove Down State Flush.

B. Change the idle timeout value for the service.

C. Configure persistence with appropriate timeouts.

D. Change the global TCP Client Idle Time-Out value.

Correct Answer: C

QUESTION 4
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Scenario: An engineer has a NetScaler system with NSIP 192.168.10.1 with subnet mask 255.255.0.0. The company
changed the IP network to use subnet mask 255.255.255.0.

Which two commands could the engineer run to modify the subnet mask of the NSIP? (Choose two.)
A. ifconfig

B. configns

C.setnsip

D.add nsip

Correct Answer: BC

QUESTION 5

What does the TCP Buffering feature on the NetScaler accomplish?

A. It enables the TCP options field syn-cookie.

B. It optimizes the client and server TCP window size.

C. It buffers incoming client connections on the NetScaler.

D. It offloads the server response to the NetScaler before delivering it to the client.

Correct Answer: D

QUESTION 6
A company has two sites that host six cache web servers that are used to promote sales information.

Which feature on the NetScaler should an engineer enable to provide faster application performance and also provide
additional capacity if the demand increases for one site?

A. Load balancing

B. Integrated Cache
C. Responder Policy
D. Content switching

Correct Answer: A

QUESTION 7
A network engineer is troubleshooting a situation where ARP requests for IPs in other subnets (for

example 10.192.12.80) are appearing in the 10.192.8.0/24 subnet.
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Which command could the engineer run on the NetScaler to verify IP to VLAN bindings?
A. show ip

B. netstat -r

C. show arp

D. show vlan

Correct Answer: D

QUESTION 8

In order to create a three-node NetScaler cluster, all nodes must and . (Choose the two
correct options to complete the sentence.)

A. be physical appliances

B. have Platinum licensing

C. be using the same build

D. be the same platform model

Correct Answer: CD

QUESTION 9

A network engineer has configured two NetScaler MPX appliances as a high availability (HA) pair.
What can the engineer configure to prevent failover if only a single interface fails?

A.FIS

B. PBR

C. SNMP

D. VMAC

Correct Answer: A

QUESTION 10

Scenario: A network engineer has bound a service group containing four web servers to a virtual server. The virtual
server is UP but users report that they are unable to access the virtual server.

In order to troubleshoot this issue, the engineer should use telnet from . (Choose the correct option to
complete the sentence.)
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A. a PC to the virtual IP address

B. a PC to the subnet IP address

C. a PC to the mapped IP address

D. the NetScaler shell to one of the web servers

Correct Answer: A

QUESTION 11

Scenario: An engineer configures two NetScaler appliances in a high availability (HA) pair. As part

of a monthly health check, the engineer attempts to log on to the second node of the HA pair and is unable to access
the management IP Address. The engineer logs on to the first NetScaler node and verifies that HA is working and
operational.

What does the engineer need to do to resolve this problem?

A. Create an ACL to allow access to the NSIP of the second node.

B. Add a SNIP for the Management IP Address of the second node.

C. Ensure that HA Route Monitors have been configured for the second node.

D. Change the NSRoot password back to default then log on to the second node.

Correct Answer: A

QUESTION 12

What are two ways in which the NetScaler TCP buffering feature improves application performance? (Choose two.)
A. Buffers the client request

B. Buffers the server response

C. Forwards the response to the client at the speed of the client network

D. Forwards the request to the server at the speed of the server network

Correct Answer: BC

QUESTION 13

Which three command-line interface commands should a NetScaler Engineer execute to configure an authentication
virtual server? (Choose three.)

A. add authentication vserver ssl
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B. bind ssl certkey

C. set authentication vserver -authenticationDomain
D. show authentication vserver

E. add ssl certkey

Correct Answer: ABC

QUESTION 14

Which two authentication types on the NetScaler support password changes? (Choose two.)
A. TACACS+

B. LDAP (TLS)

C. LDAP (SSL)

D. RADIUS (PAP)

E. LDAP (PLAINTEXT)

F. RADIUS (MSCHAPv2)

Correct Answer: BC

QUESTION 15

Which connection state is included in the Current Server Connections parameter, but not affected by Max Clients?
A. Open

B. Listen

C. Closing

D. Open Established

Correct Answer: C
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